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1. The Five Forces model helps business people understand the relative attractiveness of an industry.  The five forces are buyer power, supplier power, threat of substitute products or services, threat of new entrants, and rivalry among competitors.  For Hershey, buyer power is high.  If a consumer walks into a grocery store to buy candy, they will select their favorite type of candy based on the selection.  If a consumer was set on buying candy when they walked into the supermarket then they will usually leave with some sort of candy in hand.  This is the case even if the specific candy the consumer desired is not on the shelves.  Hershey has some supplier power because people have their preference of candy, some like Hershey bars, and others like snickers.  Hershey bars and snickers are made by different companies and taste differently.  Therefore name brand and patents allow the supplier to have some supplier power.  When Hershey’s ERP system was being replaced and supermarket shelves were left empty, customer began buying competitors candy, such as Mars products.  When it was Halloween time, consumers needed candy and even though they would have liked to buy some Hershey products they bought Mars products instead because the stores were out of Hershey candy.  

The cause for Hershey’s desire to implement an ERP system stemmed from Y2K.  Hershey had the choice either to update their legacy systems or buy and implement a new information technology system.  If Hershey felt their systems were outdated and needed to be replaced then this seemed like a logical time for a change over.  I don’t think the idea of implementing a new IT system was a bad idea; I do however disagree with the way it was implemented.  ERP systems increase the flow of communication across all areas within a process and along the supply chain.  A successfully implemented ERP system would drastically help Hershey further their goal of making money.  An ERP system would allow inventory levels and operating costs to decrease while simultaneously increasing throughput.

-Management Problems and Organizational


Because the implementation of Enterprise 21 was running behind schedule testing and training were rushed or overlooked.  These two components are the most important step in installing a new IT system; however, they are often overlooked when the implementation is late.  The failure to appropriately test and train caused customer service, order fulfillment, and needed inventory to decrease.  This cost Hershey millions of dollars in immediate sales lost and frayed their long term customer relations with their vendors.  Hershey simply tried to accomplish too much in a short period of time.  The implementation of Enterprise 21 was a huge overhaul of their legacy systems.  More time needed to be factored in to allow for time delays, so that the system could be properly tested.  Another major problem was the decision made by management to perform a direct cutover.  It is true a direct cut-over can reduce cost and time of implementing an ERP system, but it comes with a huge risk.  Hershey was doing a complete overhaul of their system and it was too easy for something to go wrong.  Their decision not to do a phased implementation was a stupid one.

-Technological


Enterprise 21 consisted of 3 different software packages from three different companies.  SAP AG of Germany was responsible for ERP software.  Manugistics group of Maryland was responsible for the support of production forecasting, scheduling, and transportation management.  Siebel system software was going to manage customer relations, and help track the effectiveness of Hershey’s marketing campaign.  I believe a compatibility error most likely existed causing “order details to be not properly transmitted to warehouses where they could be filled.”  This caused shipments to arrive late or not at all.  


The project consisted of upgrading and standardizing the company’s hardware, moving from a main frame based network to a client-server environment, replacing 5,000 desktop computers, and moving to a TCP/ IP networking.  This is an enormous undertaking, one that was bound to have failures.  The bigger a project is, and this one is big, the more time that is needed to be built in to do fault testing.  If the four year time period was going to be kept the size of the IT department should have been doubled at the beginning of the implementation.  In order to eliminate the “Mythical Man Month” added expense that comes from adding more people to a project mid way through its implementation, more people should have been added at the beginning of the project.

3 + 4. Even though there may have been some compatibility issues with the software, being that three different companies provided the software, the failure of the ERP implementation was solely the fault of Hershey.  It is almost as if Hershey executives did not understand the complexity of the change occurring.  The executives cut corners and basically did everything wrong when it came time to put the ERP system online.  Had the managers and IT department allowed for enough time for adequate training and testing, the system would have been implemented without a hitch, or at least without causing major problems.  


The employee’s inability to enter new orders into the system would not have occurred with proper training.  There were most likely some software compatibility problems but if the system was tested by the employees before it went online (if a prototype had been created), then the IT department would have seen the errors and been able to fix them.  

5.  The risks are losing immediate sales from not fulfilling orders, straining/ losing long term customer relationships, wasting money on not implementing the ERP system correctly the first time, and destroying employee morale, just to name a few.  These factors would cause Hershey to loose billions and potential cost the company its life.  In order to minimize these risks more time needed to be built in to the implementation process.  I also believe strongly in a phased implementation rather than a direct cut-over.  Maybe Hershey could have implemented SAP’s software, then a year later implement Manugistics, and then Siebel’s software.  This would have allowed kinks to be worked out over time, the IT department not to become overwhelmed, and employees to adjust to the new software.  I cannot emphasize enough the importance of training and testing.  They are critical in insuring the success of an IT system.
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